
 
 
 
 

 

Fax Option Type M7 (D759-01, 02, 03, 04, 05) 
G3 Interface Unit Type M7 (D759-11, 12, 13) 
Memory Unit Type B 32MB (G578-17) 
Fax Connection Unit Type M7 (D757-91, 92, 93) 
Handset Type HS3020(D739-05) 



 
 

Fax Option Type M7 (D759-01, 02, 03, 04, 05) 
G3 Interface Unit Type M7 (D759-11, 12, 13) 
Memory Unit Type B 32MB  (G578-17) 
Fax Connection Unit Type M7 (D757-91, 92, 93) 
Handset Type HS3020(D739-05) 

 

PARTS CATALOG 

 
This catalog gives the numbers and names of parts on this machine. 

 
 
 

1 FAX Option  (D759) ･････ 2P

2 G3 Option  (D759) ･････ 4P

3 Handset  (D739) ･････ 6P

 
 
 
 
 
 

 

August 27, 2013 



 

2 

 

104

9

7 8

 

1. FAX Option (D759) 



 

3 

Index

No.
Part No. Description

Q’ty Per
Assembly

Index

No.
Part No. Description

Q’ty Per
Assembly

1 B7715050 SPEAKER:B771 1 101 03530060N SCREW:M3X6

2 D1825894 SHIELD PLATE:EMI:FCU3.8 1 102 04513006N TAPPING SCREW:3X6

3 D1825895 INSULATING SHEET:FCU3.8 1 103 11050692 CLAMP:LES-0503

4 D7595193 PCB:FAX CONTROL UNIT:NA:SERVICE PARTS:ASS'Y(NA) 1 104 AA143590 SCREW:MM4*M3*T0.9

4 D7595195 PCB:FAX CONTROL UNIT:EU/CHN/AA:SERVICE PARTS:ASS'Y 1 105 16072251 FERRITE CORE:K3 NF-75(N)BK0

(EU/AA/CHN/KOR)

4 D7595197 PCB:FAX CONTROL UNIT:TWN:SERVICE PARTS:ASS'Y(TWN) 1

5 H5235350 MODULER CORD:NA 1

6 D1491545 SHEET:APPLICATION:FAX:NA(NA/AA/KOR) 1

6 D1491565 SHEET:APPLICATION:FAX:CHN 1

6 D1491550 SHEET:APPLICATION:FAX:EU 1

6 D1491570 SHEET:APPLICATION:FAX:TWN 1

7 B4475182 PCB:SDRAM-DIMM:32MB:PC100 1

8 G1335777 DECAL:CE:EU 1

9 D7575091 SD-CARD:CONNECTION:ORV-C2:EXP:ASS'Y 1

1. FAX Option  (D759)

Ed
Sticky Note
Item 4
PCIL: June 2014

Ed
Sticky Note
New parts
PCIL: January 2015

Ed
Sticky Note
PCIL: April 2015



 

4 

 

5

 

2. G3 Option (D759) 



 

5 

Index

No.
Part No. Description

Q’ty Per
Assembly

Index

No.
Part No. Description

Q’ty Per
Assembly

1 D1205741 BRACKET:G3G4 1 101 04513006N TAPPING SCREW:3X6

2 D1505634 PCB:CCUIF-A:ASS'Y 1 102 16072251 FERRITE CORE:K3 NF-75(N)BK0

3 D5455172 PCB:SG3-ND:NA:ASS'Y 1

3 D5455174 PCB:SG3-ND:EA:ASS'Y(EU/AA/CHN/KOR) 1

3 D1635176 PCB:SG3-ND:TWN:ASS'Y 1

4 H5235350 MODULER CORD:NA 1

5 D7595240 HARNESS:FCU-CCU:OR-C2 1

2. G3 Option (D759)



 

6 

 

 

3. Handset (D739) 



 

7 

Index

No.
Part No. Description

Q’ty Per
Assembly

Index

No.
Part No. Description

Q’ty Per
Assembly

1 D7395005 HAND SET:NA:ASS'Y 1 101 03604012N SCREW:M4X12

2 D5931010 BRACKET:HAND SET 1 102 03603006N SCREW:M3X6

103 03603012N SCREW:M3X12

104 04583010N HEXAGON HEAD TAPPING SCREW:3X10

3. Handset (D739)


